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size(900, 600)

background(255)

noStroke()

fill(255, 0, 0)

ellipse(width / 2, height / 2, 350, 350)
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size(900, 600)

background(255)

noStroke()

fill(e, 255, 0)

rect(@, 0, width / 3, height)

fill(255, 0, 0)

rect(width = 2 / 3, @, width / 3, height)
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size(600, 600)

background(255, @, 0)

noStroke()

fill(255, 255, 255)

rect(width // 5, 2 * height // 5, 3 * width // 5, height // 5)
rect(2 * width // 5, height // 5, width // 5, 3 * height // 5)
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def setup():
size(600, 600) # V4V RIUDHYAX

def draw():
background(255) # E5&Z RS
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Step 1| /N—% 27 A DALETEHE

def

setup():
size(600, 600) # V4>V RUDYA X

def draw():
background(255) # EEBEZADD
barwWwidth = 150 # N—DRZ
barHeight = 20 # N—Dz
fill(e, 100, 255) # I\—0DE
rect(mouseX — barWidth / 2, 550, barWidth, barHeight) # /\—Z3#EHT %

Step 2 | A — L DE{E

ballX = 50 # R—)LDxEZ

ballY = 50 # R—)LODyREZ

ballVx = 9 # M—ILOXAMEICKHT BDEHE

ballVy = 2 # R—ILDyAFRICHT 2DEH=E

def setup():
size(600, 600) # V4V RTDHYAX

def draw():
global ballX, ballY, ballvx, ballVy # JO—/VULZHZZET 3
background(255) # ERBZRDD
barwWwidth = 150 # IN\—DRZ
barHeight = 20 # N\—D5
fill(e, 100, 255) # I\—0DE
rect(mouseX — barWidth / 2, 550, barWidth, barHeight) # /\—Z##Hd %
fill(200, 0, 255) # R—ILDE
ellipse(ballX, bally, 30, 30) # R—/LE#HET S
ballX += ballVx # N—ILDXEZEZFEHIT
ballY += ballVy # N—ILDyEZREZEHIT S

Step 3 | R —L D S 4t

ballX
bally

50 # R—JLDxXEEIE
50 # RN—ILDyEIZE

ballVx = 9 # R—ILDXAAICKT BDEHE
ballVy = 2 # R—ILOyAMEICHT 2DEH=

def

def

setup():
size(600, 600) # T4V RIDYAX

draw():
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global ballX, ballY, ballvx, ballVy # /O—/VULZHZZET 3

background(255) # ERBEZADD
barwWwidth = 150 # IN\—DRZ
barHeight = 20 # N—Dzx
fill(e, 100, 255) # I\—0DE
rect(mouseX — barWidth / 2, 550, barWidth, barHeight) # /\—Z#@HT %
fill(200, 0, 255) # R—ILDE
ellipse(ballX, bally, 30, 30) # h—/LZEET 2
ballX += ballVx # N—)LDXEERZEHIT S
ballY += ballVy # N—ILDYyEZEZEHIT S
if ballYy < 0: # _LinEzE

ballVy *x= -1
if ballX < @ or ballX > width: # LHIHEZE

ballVx *x= -1

Step 4 | F—IL & N—DFEZLHIE

ballX = 50 # RN—)LDxEZ
ballYy = 50 # /R—)LDyEEE
ballVx = 9 # R—ILOXxAMICHT BDEHE
ballVy = 2 # R—ILOyABEICHT ZDOEFE
def setup():
size(600, 600) # T« RODHAX
def draw():
global ballX, ballY, ballvx, ballVy # /O—/VULZ#¥H%ZZET 3
background(255) # EREZTRODS
barwWidth = 150 # N\—DRZ
barHeight = 20 # N—D5X
fill(o, 100, 255) # IN\—0DE
rect(mouseX — barWidth / 2, 550, barWidth, barHeight) # /\—Z#@#Ed %
fill(200, 0, 255) # RN—=ILD&E
ellipse(ballX, bally, 30, 30) # "R—ILZEET S
ballX += ballVx # MN—ILDXEEZEHIT S
ballY += ballVy # R—ILDYEZRZEHRIT S
if bally < 0: # bimfEze
ballVy *x= -1
if ballX < @ or ballX > width: # AAIHEZE
ballVx *x= -1
leftBar = mouseX — barWidth / 2 # /\—D/imMEIE
rightBar = mouseX + barWidth / 2 # /\—ODHIHEE
# MR—)LEN—DEE
if ballVy > 0 and ballX > leftBar and ballX < rightBar and ballY > 550 and
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ballY < 550 + barHeight:
ballVy *x= -1

Step5| 71 v 7 DA

ballX = 50 # R—)LDxEEHZ
ballY = 50 # R—)LDyEEHE
ballVx = 9 # R—I/LDXARICKHT ZDEHE
ballVy = 2 # R—ILOyABEICKHT ZDOEFE

blockLife =1 # 7O0v o D547

def setup():
size(600, 600) # V4V RIDYAX

def draw():
global ballX, ballY, ballvx, ballVy, blockLife #

background(255) #
barWidth = 150 #
barHeight = 20 #
fill(e, 100, 255) #
rect(mouseX — barWidth / 2, 550, barWidth, barHeight) #

blockwidth = 70 # 70w DiE
blockHeight = 20 # 7OV /7 DEa
if blockLife > 0:

fill(200, 200, 255)

TA—NIVEREEET

HREBZARDD
N—DRS
N—DEE
IN—DE
N—ZHET S

# OV

rect((width - blockwidth) / 2, 30, blockWidth, blockHeight) # 7Ov /%

CETIERS

fill(200, 0, 255) # R—ILDE
ellipse(ballX, bally, 30, 30) # h—I/L=zHEET S
ballX += ballVx # R—ILDXEIZEZEHT 2
ballY += ballVy # R—ILDYEEZEZEHRIT S

if ballYy < 0: # LinfEZE
ballVy *x= -1

if ballX < @ or ballX > width: # ZEAIHEZE
ballVx *x= -1

leftBar = mouseX — barWidth / 2 # /\—ODEKimEEiZE
rightBar = mouseX + barWidth / 2 # /\—DHIHEEZE

# R—)L&EIN—DEZE

if ballVy > @ and ballX > leftBar and ballX < rightBar and ballY > 550 and

ballY < 550 + barHeight:



40

O© 00 N O Ul B W N -

[EE S Gy
N RS

13
14
15
16
17
18
19
20
21
22

23

24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39

40

ballVy *x= -1

Step 6 | A—)L & 71 v 7 OEILHE

ballX = 50 # N—)LDxEEZ
ballY = 50 # R—)LDyFEIE

ballVx = 9 # R—ILOXHHEICKT 2 OEHE
ballVy = 2 # R—ILOYyHAICKT 2OEHE

blockLife =1 # JOv o D547

def setup():

size(600, 600) # V4V RTDHYAX

def draw():

global ballX, ballY, ballvx, ballVy, blockLife # JO0—NIEHEZEET

background(255)
barwWwidth = 150
barHeight = 20
fill(o, 100, 255)

rect(mouseX — barWidth / 2, 550, barWidth, barHeight)

blockWidth = 70 # 70w Oig

# BRBETRDD
# N—DRE

# N—DFE

# N\—0Dt

# N\—ZHET S

blockHeight = 20 # JOv /7 DEx

if blockLife > 0:
fill(200, 200, 255)

rect((width — blockWidth)
HEHT 5

fill(200, @, 255)
ellipse(ballX, bally, 30, 30)
ballX += ballVx

ballY += ballVy

if ballYy < 0:
ballVy *x= -1

if ballX < 0 or ballX > width:

ballVx *= -1

leftBar = mouseX — barWidth /

# JOvID

/ 2, 30, blockWidth, blockHeight) # 7Ov /%

# R—ILDE

# R—ILZHEY %

# R—ILOXERZEHT 5
# R—ILOyERZEHT S

# tiREzE

# EGimEze

2 # IN\—ODEiREE

rightBar = mouseX + barWidth / 2 # /\—ODHImEEFE

# R—)L&N—DfEZE

if ballVy > 0 and ballX > leftBar and ballX < rightBar and ballY > 550 and

bally < 550 + barHeight:
ballVy *x= -1
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leftBlock = (width - blockWidth) / 2
rightBlock = (width + blockWidth) / 2

# R—JLETAY I DERE
if ballX > leftBlock and ballX < rightBlock and ballY > 30 and ballY < 30
+ blockHeight:
ballVy *= -1
blockLife —= 1

Step7 | XN KB =LA V857> ay

ballX = 50 # /R—)LDxEEE
ballY = 50 # R—/LOyEEE
ballVx = 9 # R—ILDXxAMICKT ZDEHE
ballVy = 2 # R—ILDYyAFRAICHT 2DEH=
blockLife = 1 # JOv o D747
def setup():
size(600, 600) # V4>V ROUDHAX
def draw():
global ballX, ballY, ballvx, ballVy, blockLife # JO0—NIEHEEET
%
background(255) # BERBZRDD
barwWwidth = 150 # IN\—DRZ
barHeight = 20 # N—DFX
fill(e, 100, 255) # I\—0Dt
rect(mouseX — barWidth / 2, 550, barWidth, barHeight) # /\—Z#@#HT %
blockWidth = 70 # 70w 7 Dig
blockHeight = 20 # 7OV /7 DES
if blockLife > 0:
fill(200, 200, 255) # 70OvUD
=)
rect((width — blockWidth) / 2, 30, blockWidth, blockHeight) # JOv ¥ %
HEY 5
elif blockLife == 0: # GameClearflLiZ
fill(e)
textSize(30)
text("Game Clear !", 200, 200)
fill(200, 0, 255) # Rh—ILD&E
ellipse(ballX, bally, 30, 30) # h—IL=EET S
ballX += ballVx # N—ILDXEEZEHIT
ballY += ballVy # N—ILDOyEEZEHIT S
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# GameOverfliE
if ballY > height:

fill(0)
textSize(30)
text("Game Over...", 200, 400)

if bally < 0: # _LinEzE
ballVy *= -1

if ballX < @ or ballX > width: # AGIHE?ZE
ballVvx *x= -1

leftBar = mouseX - barWidth / 2 # /\—ODEimkEEE
rightBar = mouseX + barWidth / 2 # /\—ODOHIxHEE

# R—)L&E/IN—DEZE

if ballVy > 0 and ballX > leftBar and ballX < rightBar and ballY > 550 and
ballY < 550 + barHeight:

ballVy %= -1

leftBlock = (width - blockWidth) / 2
rightBlock = (width + blockWidth) / 2

# IR—JL&T 0Oy U DEZE

if ballX > leftBlock and ballX < rightBlock and ballY > 30 and ballY < 30
+ blockHeight:

ballVy *x= -1
blockLife —= 1



